
Answer on Question 56917, Physics, Other 

Question: 

A bobsled zips down an ice track, starting from rest at the top of the hill, with vertical 

height of 170 meters. Disregarding friction, what is the velocity of the bobsled at the 

bottom of the hill? 

Solution: 

By the law of conservation of energy we have: 

𝐾𝐸𝑡𝑜𝑝 + 𝑃𝐸𝑡𝑜𝑝 = 𝐾𝐸𝑏𝑜𝑡𝑡𝑜𝑚 + 𝑃𝐸𝑏𝑜𝑡𝑡𝑜𝑚, 
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Because 𝑣𝑡𝑜𝑝 = 0
𝑚

𝑠
 (bobsled starting from rest) and ℎ𝑏𝑜𝑡𝑡𝑜𝑚 = 0𝑚, we get: 
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From this formula we can find the velocity of the bobsled at the bottom of the hill: 

𝑣𝑏𝑜𝑡𝑡𝑜𝑚 = √2𝑔ℎ𝑡𝑜𝑝 = √2 ∙ 9.8
𝑚

𝑠2
∙ 170𝑚 = 57.7

𝑚

𝑠
. 

Answer: 

The velocity of the bobsled at the bottom of the hill is 𝑣𝑏𝑜𝑡𝑡𝑜𝑚 = 57.7
𝑚

𝑠
. 
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